
R 

3 

91. In the given circuit voltmeter shows a reading of 

4V, then the power developed across R resistance 

will be : 

91. Tift fc4 TRI LI tLIET > c4)cs-ikt 4 )•R -76-cif 	R 

3rf-dtti Tr{ f-vr4? Imp q► ichf 	111 ? 

(1) 15 m W (1) 15mW 

(2) 14 m W (2)  14 m W 

(3)  12 m W (3) 12 m W 

(4) 10 m W (4) 10 m W 

92.,  An electric iron draws a current of 15A from a 

220 V supply. What is the cost of using iron for 

30 min everyday for 15 days if the cost of unit 

(1 unit = 1 kW/hr) is 2 rupees ? 

(1) Rs. 49.5 

(2) Rs. 60 

(3) Rs. 40 

(4) Rs. 10 

93. Two different sources of light A and B have 

wavelength 0.7 « m and 0.3 A/ m respectively. 

Then which of the following statement is ture : 

(1) A has greater energy then B 

(2) B has greater energy then A 

(3) Both has equal energy 

(4) None of the above 

94 The type of radiation absorbed by CO2  molecule 

in atmosphere are 

(1) X-rays 

(2) Gamma rays 

(3) Infra-red rays 

(4) UV-rays  

92. t.) f-47 77T4 220 V 	TT'Tt -4 15A f-1713 

	 I qk .crw 19-a (1 zifffz= 1 kW/hr) 1 to-Ri"TI• 

t,calfd7 	t 15 f` 	-i1 7TEF t1411-11 30 1--v 

.ti4 r fT-a-a-r ref sli1r ? 

(1) 49.5T. 

(2) 60T. 

(3) 40T. 

(4) 10T. 

93. *It 	 41o.  A 4tt B 	fff-017:i 

0.7 Ai m 72.iit 0.3 ,u m 	F-►1-1 	74 

Tit ? 

(1) A 41cr1 diza B zlgiTT 

(2) B    A*1 

(3)I 	114--dI 71 d.),31i 

(4) 3t4 ► 1-cf 	-T)1 	 

94. CO2  371 	liTlusci 	3-177K-Erff Wt '9 ,11-1 ,1101 

: 

(1) 7TR-Facm,if 

(2) +114-11-td-WTO 

(3) 3-1-d7-471 rciRriku) 

(4) triliiTt icircrwif 



12 3 4 5 6 7 8 9 10 

time (sec.) 

4 

95. The speed-time relation of a car whose weight is 

1500 kg has shown in the given graph. How much 

braking force has been applied at the end of 7 

sec. to stop the car in 2 sec. ? 

(1) 2000 N 

(2) 1200 N 

(3) 4800 N 

(4) 8400 N 

96. The distance covered by a body moving along X-

axis with initial velocity 'u' and uniform 
 

acceleration 'a' is given by x = ut + --- at
2 
 . This 

result is a consequence of : 

(1) Newton'sIst law 

(2) Newton's Ilnd law 

(3) Newton's IIIrd law 

(4) None of the above 

97. A Parachutist of weight W strikes the ground 

with his legs fixed and come to rest with an upward 

acceleration of magnitude 3g. Force exerted on 

him by the ground during landing is : 

(1) W 

(2) 2 W 

(3) 3 W 

(4) None of the above  

95. Rif 17ff IXEF T 	1500 kg 4,TR 	TT 47T-Trrrzr 

	

1:t4tT 71t81 * I 	 *IF *i• 2 4. * 

	

4 4.1* imr 7 4.* 41z* 	 km 

? 

111111111'1 

1111111111 

16 —1--I4 --I-4-4-1-1-1-4 — 

	

1 	1 	1 	1 	1 	1 	1 	1 	1 	1 

	

12 —H 	1-1 — 

	

1 	1 	I 	I 	I 	I 	I 	1 	1 	1 
8 — I 	 1-1 

I 

1 2 3 4 5 6 7 8 9 10 

171T4 (4) 

(1) 2000 -eid-f 

(2) 1200 -ete.-t 

(3) 4800 -eke.-r 

(4) 8400 -ee.-1 

96. *II 	wr4-1-TW A1T 	721T H4-11'{ cater `a' X-1T 

* 	ilklqaci* I M:a 711 TT 	Trt 	x 

x = ut + —
1 

at
2 	car trt 	Tri7Truf 	tic 

2 
: 

(1) -1,e4 312Trf k441? 

(2) 	 * 	 r-tii-f 

(3) •-tid-f 

(4) .-14* 

97. W *TT Tr -crw *wiz ,441-r TR 3g (,9( 	atri) 

ciof 14 door *I 'i+-il-f* t11 17F RT .th.r7 TR oil 

qr7Fwrit: 

(1) W 

(2) 2 W 

(3) 3 W 

(4) mid  

4 
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98. The speeds of sound in air and sea-water are 

given to be 340 m/s and 1440 m/s. resp. A ship 

sends a strong Signal straight down and detects 

its echo after 1.5 secs. The depth of the sea at 

that point is : 

(1) 2.16 kms 

(2) 1.08 kms 

(3) 0.51 kms 

(4) 0.255 kms 

99. Three equal resistors connected in series across 

a source of e.m.f. dissipate 10 watts of power 

What will be the power dissipated in watts if the 

same resistors are connected in parallel across 

the same source of e.m.f. ? 

(1) 10 W 

(2) 30 W 

(3) 90 W 

10 
(4) —3  W 

100. Eight Identical spherical mercury drops charged 

to a potential of 20 v each are coalesced into a 

single spherical drop : 

(1) The internal Energy of the system remains 

the same. 

(2) The new potential of the drop is 80 v. 

(3) Internal Energy of the system decreases. 

(4) The potential remains the same i.e. 20 v. 

101. A technician has 10 resistors each of resistance 

0.1 S2 . The largest and smallest resistance that 

he can obtain by combining these resistors are : 

(1) 10 0 and 1 Q resp. 

(2) 1 c  and 0.1 Q resp. 

(3) 1 Q and 0.01 Q resp. 

(4) 0.1 0 and 0.01 Q resp.  

98. TM -ET TrI3 77 TT 	1 *TT 340 m/s A 

1440 m/s * I 77/ 	zws3f 'crW qi chvito 

r- 34-4-di f74* TrfutAri 1.5 * 'Erg 71 

* 1374 N-s 717 	T1' iti 	: 

(1) 2.16 kms 

(2) 1.08 kms 

(3) 0.51 kms 

(4) 0.255 kms 

99. 717 wig-! TifdtA Oft 	i 1:1 10 AR d),74 "Wl 1§r4 

.1.)(4*1 ik 	WI:r iY IT ITAT 714, t 77t 

(A-cf 414 (e.m.f. "Ql•ff 	.c7r34 4 t-mr-c 	: 

(1) 10 W 

(2) 30 W 

(3) 90 W 

(4) --3 
10
- W 

100. 7-*• U1 373 Tut 	f79-tri scram IR 20 v f41-74 

Wr 3-TOT *, 14101chk 	40 	Tral*, 

71-wzrr : 

(1) 1111171 34s411-1 	31T-f1T 	 1411T9' 1Tth * 

(2) cis? tc f4ITI 80 v *TTI 

(3) d49i-o-r 	ft-{w 4),xif7ft 

(4) fai-T4 20 v 	 

101. @m fgr.-t *74 0.1 (Tr-lw)* io wicR t 179' 

*-*-7 *4* *4 a aftw 

3rfdttr TTTM 	ticbcti 	: 

(1) 10 S2aTti1 0 

(2)  1 3T)7 0.1 0 

(3)  1 0 *0.01 c 

(4)  0.1 c  *0.01 
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102. Two masses of 1 gm and 4 gm are moving with 	102. 

equal kinetic energies. The ratio of the magnitudes 

of their linear moments is : 

(1) 4 	1 	 . 

(2) :2 	1  

(3) 1 	2 

(4) 1 :6 

1 1171 afg 4 
TrfrrzR 

(1) 4: 1 

(2) f 	: 

(3) 1 :2 

(4) 1 :6 

.1:Frri vn:rtrnrr 	 as3r SwF 

t -Er9311* 	 aTirer 	: 

1 

103 If the quantity of metal in a metallic oxide is 60%, 	103. zft 14,41 WI* 3t11771?( tiTq 	4-nit 60% 

then its equivalent weight is : 	 at-ichr 17#4.  TT "OTT : 

(1)  

(2)  

(4) 

1 

5 
— of molecular weight 

1 
—
2 

of molecular weight 

of molecular weight 
2 

3 
— of molecular weight 
5 

(1)  

(2)  

(3)  

(4)  

1 

5 

1 
—
2 

3 
—
2 

3 
—
5 

x 

x 

x 

x 

3Trfrraw 

371'11717 1.-irT 

37frrefW 1-17 

34Tfrr7W ITTT 

The electronic configuration of an ion M' is 2, 8, 	104. T  3747 M2' 	srla 	Tftim fel-ii* 2, 8, 14 3717 

14 If its mass is 56, the number of neutrons in 
	

7-T WT 3Trzff7i 1-TT7 56 * 5(4 if 	TTIT-RiN 

its nucleus is 
	 Ticarr *rt : 

(1) 30 (1) 30 

(2) 32 (2)  32 

(3)  34 (3) 34  

(4) 42 (4) 42 

105 The normality of 0.3M phosphoric acid is : 
	

105. 0.3M 14.) Hv) v=r) 37rFf 	-1 	* : 

(1) 0 1 (1) 0.1 

(2) 0.9 (2)  0.9 

;3) 0.3 (3)  0.3 

(4)  0.6 (4) 0.6 
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106. In the presence of H2SO4 concentrated sulphuric 

acid, acetic acid reacts with ethyl alcohol to 

produce : 

(1) aldehyde 

(2) alcohol 

(3) ester 

(4) carboxylic acid 

107. Arrange the following elements in order of their 

increasing ionisation energies 0, S, Se, Te, Po : 

106. Aftff H2SO4  70 34 4-qt A'  tqW-Ew 3TI:F 

1fiT 	t;',4-41'rt A kiglismer 	TIT 	4ii zfigt dc41‹ 

: 

(1) •Lic-sziss 

(2) tcahltsfrf  

(3) \i.e.( 

(4) 	 

107. f`i4-1Rifiqcf occif Ti 31 	'71:193if 	3171'97 d,=t 

WR 0,1 0, S, Se, Te, Po : 

(1) Se, Te. S, Po, 0 	 (1) Se, Te, S, Po, 0 

(2) 0. S. Se, Te, Po 	 (2) 0, S, Se, Te, Po 

(3) Po, Te, Se, S, 0 	 (3) Po, Te, Se, S, 0 

(4) Te. 0. S, Po, Se 	 (4) Te, 0, S, Po, Se 

108 H2S (g) + Cl2  (g) -4 2 Hcl (g) + S(s) 	 108. H2S (g) + Cl2  (g) 	2 Hcl (g) + S(s) 

The reaction is interpreted as 	 31f1-141 	t;Limiqf F T 9erw 	: 

(1) H2S is getting oxidised and Cl2  is getting 	(1) 3151t*-71T =T H2S T d4'4,-1-f IT 012 	34-971747 

reduced 	 74 TM 

(2) H2S is getting reduced and Cl2  is getting 	(2) 31fi1fszu H2S T 3179-zR 721T Cl2 	d414-1 

oxidised 	 tT Tyr 

(3) Only H2S is oxidised 

(4) Both H2S and Cl2 are reduced 

109. Structures of nuclei of three atoms A, B and C 

are given below 

A has 90 protons and 146 neutrons 

B has 92 protons and 146 neutrons 

C has 90 protons and 148 neutrons 

Based on the above data. which of these atoms 

are isotopes and which are isobars ? 

(1) A and C are isotopes: B and C are isobars 

(2) A and B are isotopes. A and C are isobars 

(3) B and C are isobars: A and B are isotopes 

(4) A and C are isotopes: A and B are isobars  

(3) 144 H2S t 	Tr,r 

(4) 345-Tr---41 u H2S 3ft-{Ci2 ,taf 	3T7-74-i if 71i 

109. 	Im4Ppit A, B 	C -4rf4Ti 1 4-1J-4-1111, frr 

A 90 si 	 34T 146 -1,,-41-1 

B 92 iit7.7 ,3itT. 146 	 

C 90 4kl-r 31'17 148 -,121-r 

4 4.11ci 34T*71 i 341N7 ifT 5144 	1,14 	711:7 

Ti14-T-4rF9--  34)7 1-)).-r A A44rfTT 

(1) A MIT C TrITR4rF9-T•  417 B -ff2-rt C w.P.Trf3,-T 

(2) A 7RTT B ATF-Erftw 3417 A7241 c 

(3) B 7$.41 C 171:04TfTT 3-fti A 79-11 B 7177-2.4(FT 

(4) B 79-7 c A4T-urf- 	A 72. Tr B 444rr-TT 
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110. Which of the following is the functional group for 

carboxylic acids ? 

(1) > = 0  

110. 14-1 ti t..1) 	 chic( cf-H rich 3T re 

3TFIT9T47 	1,6 ? 

( 1 ) > C=0 

(2) - C
N 

H 	

(2) - 0
N

H 

(3) - OH 	 (3) - OH 

(4) - C N 

OH 	

(4) - (4) - C 

 

111. Which one of the following metal oxides shows 

both acidic and basic characters ? 

(1) ti 32 O 

(2) K2 0 

(3) Cu 0 

(4) Al2  03  

112. Which of the following will have equal number of 

electrons ? 

(1) CI and Br 

(2) Na* and Mgt' 

(3) Ar and Ne 

(4) Mg'.  and Ca'.  

113 Which of the following gases is known as tear 

gas ? 

(1) Methyl isocyanide 

(2) Sulphur dioxide 

(3) Chloropicrin 

(4) Nitrous oxide 

114 Mg has three natural isotopes whose isotopic 

masses and relative abundances are respectively 

23 98 (78.60%), 24.98 (10.11%) and 25.98 

(11 29%) The atomic mass of Mg will be 

(1) 23 42 

(2) 24 31 

(3) 24 95 

(4) 23 95  

111. -14-1 	(cf 11 	*ff-TIT lay q'fq 3#477r7 31-rffizt 

MIT Witzt tr* 044cIR iir<Mc 	 ? 

(1) Na2 O.  

(2) K2  0 

(3) Cu 0 

(4) Al2  03  

112. -11-1 	gt-f 1174 al   t ? 

(1) Cl -  3fl Br 

(2) Na* 3i1R Mgt' 

(3) Ar 3f Ne 

(4) Mgt' 34iT Ca2* 

113. I-14-44(5d T1 A 	 3TiV174' -ffrrr A 	 

? 

(1) AfRm 3IFT4R479T7 

(2) -1(--4-,,t 77344S9r0 

(3) ctr.41aLict)R-1 

(4) -1W4 3#4977 

114. Mg 	9-‘19 	AAR-TrrFT FA I et; TP:rT-211 

5;011-if-f 72TI 	 chi-14: 23.98 (78.60%), 

24.98 (10.11%) 47 25.98 (11 29%) Mg wr TrItirui 

5‘1,11 : 

(1) 23.42 

(2) 24 31 

(3) 24 95 

(4) 23.95 
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115. Mitosis : 
	

115. 7177.4t f1477 : 

(1) leads to recombinant daughter cells 
	

(1) AIf-7 et;if- rchr3if'1-iii i-r 

(2) is a reduction division 	 (2) Via' 	-q-1i+.Ur 

(3) leads to formation of parental type of daughter 	(3) -1=177 	icnt11 7.1 	iik *1411-441 7r 	 

cells 	 atuinr 

(4) occurs in gametes 	 (4) Tir7i 	‘r(-4 

116. Wings of birds and insects are : 
	

116. ,--rfP,1-7-if 7271 	1 	rtu f-;*4-1 SichH 	3471 

(1) Vestigeal organs 
	

(1) 

(2) Homologous organs 
	

(2) Wizild 347 

(3) Paralogous organs 
	

(3) tRi,iid 347 

(4) Analogous organs 	 (4) 7:71-i7 347 

117. Mitochondria and Chloroplasts are similar 

because : 

(1) Both have nuclei 

(2) Both have 80s ribosomes 

(3) Both have DNA 

(4) Both have single membrane envelope 

118. Cut leaves remain green for longer time if dipped 

in : 

(1) Auxins 

(2) Cytokinins 

(3) Ethylene  

117. 1-11.1c1-)1 1-1V4f 7211 6`td Moich 74  t44-1rdnr c-d14 11,11 

(1) .6-5,a, 

(2) 80s W--4 kil+4 

(3) 1.77.7. 

(4) 777 fT 	7r 6-iicHui 

118. fa-Ir if A -FT-Fmk -1--q-rwl. “9.1.4 ITT *a 7r-971711 ATPq 

44) ? 

(1) 37I-NTR 

(2) k--ii1.1,15 	 

(3) v-.7717 

(4) Gibberellins 	 (4) rzi9(01-r 

119. Neurons have a unique property that makes them 

to communicate with other cells via : 

(1) Nerve cords 

(2) Glial cells 

(3) Synapses  

119. 	--rprrwr3 	cRitior 	7Fi1 (t>i 	 

A 4,41t oh(.4 7 (-1514111 	1 *, fi 1474 	? 

(1) cr1-.)f 

(2) Jc-iiqc-r .1-)1Nichr 

(3) fFe4scr 

(4) Schwann cells 	 (4) 7a7 .1;1 ia,)r 

120. Which layer of planet earth's atmosphere protects 

it from the harmful UV radiations of the Sun ? 

(1) Stratosphere 

(2) Ozonosphere 

(3) Troposphere 

(4) Ionosphere  

120. -72...t 	liT-isc.4 	"trm wif 	Kir-ichRch 

UV fwTtrif -49Tth* ? 
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121. Cramps in the leg muscle after running a long 	121. -erizft It/ 	sus *  	taff 

distance are because of : 	 fq,k4 zb-TTErr 	)nit ? 

(1) Build up of acetic acid 

(2) Build up of oxalic acid 

(3) Build up of lactic acid 

(4) Build up of pyruvic acid 

122 The enzyme pepsin is secreted by : 

(1) Inner lining of oesophagus 

(2) Gastric lining of stomach 

(3) Inner lining of duodenum 

(4) Gall bladder 

123. Pick the odd one out : 

(1) Down syndrome 

(2) Hemophilia 

(3) Malaria 

(4) Phenylketonuna 

124. Vegetative propagation refers to formation of new 

plants from 

(1) Stem, roots and leaves 

(2) Leaves, flowers and seeds 

(3) Stem, roots and seeds 

(4) Fruits, seeds and spores 

125 Which one of the following is a correct state- 

ment ?  

(1) •krTif-ew3TT 

(2) 3if*RfFw 3117i 

(3) Afaizr* 3TITt 

(4) 4i4R<Tcui, 3-7:9 

122. 111719 -114-ich 	374TT 	t-lcluf cf.)4 	 : 

(1) IlfTR1 	34c4 	1f 

(2) 31774 	*at dLichtif 

(3) 'ZITft 	'111-1-ft d c".11  

(4) fg 	rim 4 

123. 1917r 'gni u ch)-r-Trt-41,44 717 74 3i-ffrr sow TI* ? 

(1) 516-f *irRilf 

(2) ts14-144,1-oir 

(3) 1:0•177 

(4) 4,-iivich 	elvir 

124. chi cia, srEckt 	fri 	 *1 	-tftt 31TRI fah-7 

(1) 9T, 77 72TT 	 

(2) err, 	'R2.11 	A 

(3) ffai, As?.4t tl1,71 

(4) err, w1A a2ir *-Arul 

125. TaifN ci;)--1-TI1 1,4104 	? 

(1) Dominant trait can be expressed in 	(1) 3114re1*79 -11-1T4-1,311 3T4F-24T tit 34f1-117Pf 

homozygoul condition only 

(2) Recessive trait can be expressed in 
	

(2) 31P-Tit 9vITT chart w-iviA araT-Err 4 

homozygoul condition only 
	

tr4'  

(3) Dominant trait cannot be expressed in 	(3) qt1+-11 	347R.T1 It .511-1T 9$Tui 31fa-757Ri 

heterozygoul condition 	 * 44441 

(4) Recessive trait cannot be expressed in 	(4) Nti,41444 	37Ert-Err 	313/17ft hTTI1 -sift 

heterozygoul condition 	 7e -el iittA 
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126. A shopkeeper mixes 80 kg sugar worth of Rs. 

6.75 per kg with 120 kg of sugar worth of Rs. 8 

per kg. He earns a profit of 20% by selling the 

mixture. He sells it at the rate : 

(1) Rs. 7.50 per kg. 

(2) Rs. 9 per kg. 

(3) Rs. 8.20 per kg. 

(4) Rs. 8.85 per kg. 

127. A shopkeeper prefers to sell his goods at the 

cost price but uses a weight of 800 gm instead 

126. 7w schi-K►  6.75 T. Afa fw.111. 7TF1 80 fchcihI1 	1-WIt 

8 T. 1;it fEE.71. am? 120 fcbc-iii- ►4 41-41   * 
zfg 71#1531u1 	4"- T-{ 20% 	croqicif * I q* 

4ticif * : 

(1) 7.50 T. Afff fw.T. 

(2) 9 T. 3f 1 

(3) 8.20 T. 3rf-d fw.T. 

(4) 8.85 T. Afff fT.T. 

127. •crw 	3474 *411114 	Tzi 474 TR .q-if 

chtlf s 771 	1 .f- rUT. 	zi+i 800 TR Wf 

of 1 kg. weight. He earns a profit of : S14),T *Oft I 3.Half 9134 	: 

(1) 2% (1) 2% 

(2) 8% (2)  8% 

(3)  20% (3) 20% 

(4) 25% (4) 25% 

128. The compound interest on a certain sum for two 

years is Rs. 618 whereas the simple interest on 

the same sum at the same rate for two years is 

Rs. 600. The rate of interest per annum is : 

128. 7w Trrvt ITT 	 ,T,Li►,7f 618 T. Iri"ffi t 

	 (6r mg d41 714 tlITF TiTtirrn molar 

600 T.* I mit,4 	(1114417 	)4i1: 

(1) 18% (1) 18% 

(2) 9% (2)  9% 

(3)  6% (3) 6% 

(4) 3% (4) 3% 
1 

is : 	129. 71fr.. 	— = 3 i x6 + —
x

i

' 	
Tim Iftrrt : 

x6 	 X 
( 1 ) c; 27 

(2) 114 

(3) 364 

(4) 322 

130. 7Tr log12  27 = a it log6  16 Tt 	*TM : 

4 (3 — a)  
(1) 	(3  + 

129. If x + 
1
–
x 

= 3 , then the value of x6 + 

( 1 ) 927 

(2) 114 

(3) 364 

(4) 322 

130. If log12  27 = a, then log6  16 is : 

4 (3 — a) 
(1) (3+a)  

	

4 (3 + a) 
	

4 (3 + a) 
(2) (3  _ a) 	 (2) (3  

	

(3 +a) 
	

(3 + a)  
(3) 4(3 — a) 
	

(3)  4(3 — a) 

	

3 — a 
	

3 — a  
(4) 4(3  + a) 	 (4) 	4(3 + a) 
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131. If the zeros of the polynomial f(x) = k2  x2  — 17x + 

k + 2, (k > 0) are reciprocal of each other, then 

the valve of k is : 

132. A bag contains 20 balls out of which x are black. 

If 10 more black balls are put in the box, the 

probability of drawing a black ball is double of 

what it was before. The value of x is : 

131. Tifc 	f(x) = k2  x2  — 17x + k + 2, (k > 0) 

7F:rw 	1,(4 	0.10404 	k 	Tim *Fa : 

(4) 1 

132 7w -420 	fTi 	x cbirt 17ft 10 chio 	it 

	 t 	t 3 	MIfF4cir 

TrO sTi? 7rt x rTuff 

(1) 0 	 (1) 0 

(2) 5 	 (2) 5 

(3) 10 	 (3) 10 

(4) 40 	 (4) 40 

133 For the distribution 	 133. f9-Pr q.e.-t -1:1 : 

Marks 	Number of students 	 3f 	 fq-arfirM 	tit9441 

Below 5 	10 	 5 74 -1:r 	10 

Below 10 	25 	 10 74 wrr 	25 

Below 15 	37 	 15 *W1:1 	37 

Below 20 	57 	 20 74 wii 	57 

Below 25 	66 	 25 14 w14 	66 

134 

the sum of the lower limits of the median class 

and the modal class is : 

(1) 15 

(2) 25 

(3) 30 

(4) 35 

The sum of all two digit numbers each of which 

leaves remainder 3 when divided by 5 is : 

(1) 952 

(2) 999 

(3) 1064 

(4) 1120 

134. 

W•Tir 

(1)  

(2)  

(3)  

(4)  

39 

(1)  

(2)  

(3)  

(4)  

tittmrfrrw 3t)7 vi-Fw 

: 

15 

25 

30 

35 

TT *T 

1,44 5 74 

fp 	4113:1Tall 

Tt 3f-+-1 

c44 ITT 7*h9 3 34MT 

952 

999 

1064 

1120 

TitF 	: 
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135. If cos A + cos2  A = 1, then the value of sine A + 	135. grc cos A + cos2 A = 1, 4t s n2 A + sin° A r tp 

sin° A is : 	 6llif : 

(1) 1 	 (1) 1 

1 	 1 
(2) 2 	 (2) 

(3) 2 

(4) 3 

136. In right triangle ABC, BC = 7 cm, AC - AB = 1 

(3) 2 

(4) 3 

136. 7T•tiH iur fql-F ABC, BC = 7 74.*., AC -AB = 1 

cm and LB = 90°. The value of cos A+ cos B + 

cos C is : 

(1)  

32 

(2) 24 

31 

(3) 25 

25 

(4) 31 

*f.*. 

'TT 179 

(1)  

(2)  

(3)  

(4)  

LB = 90° 1, 91 cos A + cos B + cos C 

6 	ilf 	: 

1 

32 

24 

31 

25 

25 
yi  

137. The angles of elevations of the top of the tower 

from two points in the same straight line and at a 

distance of 9 m. and 16 m. from the base of the 

tower are complementary. The height of the tower 

is 

137. th-ig 	3Trw 	3-T1T     tur -11 9 *. 3ftT 16 
"1:11. 'WI 	mrt ft-RTU 	311 	4-11( 	ch)uf 

yen 	I H11R 	: 

(1) 	18 m (1) 18*. 

(2) 16 m (2)  16 *. 

(3) 10 m (3) 10*. 

(4) 12 m (4) 12*. 

138. Four circular cardboard pieces, each of radius 7 

cm. are placed in such a way that each piece 

touches the two other pieces. The area of the 

space enclosed by the four pieces is : 

(1) 21 cm2  

(2) 42 cm2  

(3) 84 cm2  

(4) 168 cm2  

138. 7 4.A. f-I— Tr alCl 1.T vichit Tr4 T+-4 	51chlt 

"PA 	 chttlf 17r4* 
.11 	 f,44 	.1,1 -TT 4-T:R-ff 61:1 : 

(1) 21 qrf 14.*. 

(2) 42 qrf *it 

(3) 84 "Ti 

(4) 168 qrf 



T P 

(1)  135° 

(2)  150° 

(3)  120° 

(4)  110' 

P 

(1)  135' 

(2)  150° 

(3)  120° 

(4)  110° 

14 

area A ABC16 
139 1 ABC 1 PQR and 	 - If 

area A PQR 9 

PQ = 18 cm and BC = 12 cm then AB and QR 

are respectively 

(1) 9 cm 24 cm 

(2) 24 cm, 9 cm 

(3) 32 cm 6 75 cm 

(4) 13.5 cm, 16 cm 

140. E and F are respectively, the mid points of the 

sides AB and AC of A ABC and the area of the 

quadrilateral BEFC is k times the area of A ABC 

The value of k is 

(1)  

(2) 3  

ABC 16 
139 A ABC - 1 PQR 	 - 

A PCP 9 c" 

PQ = 18 74.-eft. 417 BC = 12 74.-41. t AB 7417  

OR q7 -147( 	7,11Iff 

(1) 9 74.x. , 24 

(2) 24 "kit., 9 *Lit. 

(3) 32 74.x. , 6.75 Mt . 

(4) 13.5 #.141, 16 *f.it. 

140. A ABC -1=11 E 417 F 34-1-1Yf: rip-if AB 	AC 4 1:1 74 

'%(S 7Wf -4q1,1-7 BEFC 	a)-Tzh-9 ft9-7 ABC 

-179 	: 

(3

) 3 

(4) 4 

141 In the figure, PQ is a chord of a circle with 

centre 0 and PT is the tangent at P such that 

ZQPT = 70'. Then the measure of ZPRQ is equal 

to 

(4) 4 

	

141. 3Trft PQ 	0 girl" r f 	 I PT 	 P 

1777 70 '“9.1ri- 72.1-1ZQPT = 70° t /PRO 

1 177 	if : 
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142. AB and CD are two parallel chords of a circle 

such that AB = 10 cm and CD = 24 cm. If the 

chords are on the opposite sides of the centre 

and the distance between them is 17 cm, the 

radius of the circle is : 

(1) 14 cm 

(2) 10 cm 

(3) 13 cm 

(4) 15 cm 

143. From a 25 cm x 35 cm rectangular cardboard, 

an open box is to be made by cutting out identical 

squares of area 25 cm2  from each corner and 

turning up the sides. The volume of the box is : 

(1) 3000 cm3  

(2) 1875 cm3  

(3) 21875 cm3 

(4) 1250 cm3 

144. Let P (4, k) be any point on the line y = 6 — x. 

If the vertical segment PQ is rotated about 

y — axis, the volume of the resulting cylinder is : 

	

142. AB ailt CD 7* 	W11-11-CR 41c11 

feral rsqlr3T-I 	qic AB = 10 

4.14. 3117 CD = 24 -4.1t. * -fftg d-itOT17 

	

1714.1:11*,7 	r>1,-1f TOTft : 

143. 25 At. x 35 11.t. 3TP:MITTF 	"Ar* -14 -4 25 

,4 	t 75fT" 	ebidebk 	f-*714 zef d'-R 

*1417-W.{ 	15,041 -grim Trzrr t i fsmi 

3-7T ffff 	 : 

(1) 3000 sti 

(2) 18757-i 4.1:11. 

(3) 21875 79 Alt. 

(4) 1250 

144. TIT9T P (4, k) (9.if y = 6 — x TIT fTzm 

(gus PQ 	y-34.T*1;trff 'Frzrr 	t mt7 

aTrzr-d9 	: 

(1) 3211 
	

(1) 3211 

(2) 1611 
	

(2) 1611 

(3) In 
	 (3)  332 n  

(4) 811 
	

(4) 811 
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145. Coordinates of P and Q are (4, - 3) and (- 1, 7). 

The abscissa of a point R on the line segment 

PR 3 
PQ such that IT,od= is :  

	

145. f-4311 P 	Q f-itqT (4, - 3) 3tR(- 1, 7) 

,,_ PQ =
S T4fcf4 R 	fgus PQ ft-MW 33TT —

PQ
= -

5 
t", 

	

R 	t : 

(1)  

(2)  

(3)  

(4)  

18  6- 

17 

1 

17 
—8  

(1) 
18 

 6- 

17 
(2)  

(3) 1 

17 
(4) Ti  

146. 'When France Sneezes, the rest of Europe 146. 4 7q •rtg tt11   q -4 at 771 Aicit * t i 

catches cold'. This was the remark of ? 	 zig• w49 1.bk-14 wgr 	? 

(1) Bismarck 

(2) Metternich 

(3) Mazzini 

(4) Napoleon 

147. Until medieval times Jews lived in separately 

marked areas known as : 

(1) idR44-11,:t 

(2) irzirr9T 

(3) Af-qt 

(4) •ILI 

147. zraiwrffi-i f T .'W-1-qrt 3T771 (51robcf 01:1 -74 

F-14 WO : 

(1) Ghettos 	 (1) *z 

(2) Lebensraum 

(3) Synagogues 

(4) Gas Chambers 

148 In 1860 the famous expedition of the thousand 

to South Italy was led by : 

(2) cic)-Iiiti-1 

(3). 	 

(4) 

148. 1860 if Ufa idc41 i 7r4 aK4 	Trft,r4 

3Trwrri 	: 

(1) Mazzini 	 (1) AfTt 

(2) Garibaldi 

(3) Victor Emmancul II 

(4) Count Cavour 
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149. The Dutch started 'Scientific forestry' at : 

(1) Sumatra 

(2) Kalimantan 

(3) West Irian 

(4) Java 

150. The 'slays' belong to a geographical region : 

(1) Russia 

(2) Balkans 

(3) Hungary 

(4) Germany 

151. In 1940 Vietnam was occupied by : 

(1) China 

(2) France 

(3) Japan 

(4) Germany 

152. A city that was a group of seven Islands under 

Portugese control in the Seventeenth century : 

(1) Surat 

(2) Bombay 

(3) Calcutta 

(4) Madras 

153. The novel that deals with Indian Peasantry : 

(1) Godan 

(2) Rangbhoomi 

(3) Anandmath 

(4) Padmarag 

154. Samburu National Park is in : 

(1) Kenya 

(2) Tanzania 

(3) Namibia 

(4) Zimbabwe 

S173 UPC/12—(SAT-X)-2, 

149. Wq 41-01fTs 	 Vairff 	fwzri ? 

(1) till* 

(2) cbro 	 

(3) 1 	q144 §R,H 

(4) qrdf 

150. floicr 	 1-Fr1f—d.w 07*.  fig ? 

(1) TIT 

(2) Glic-4,-f 

(3) 	 

(4) A41 

151. 1940 	Agall4 TR chiict)i aftixim zir ? 

(1)  

(2) 5oiq 

(3) ziitivf 

(4) A4-11 

152. TO fgri* tit6 qi6( 17t iI fdrriF 

: 

(3) chcleblf 

(4) 	 

153. 	d4-e4R171 1-11744 ctpcb qrf TR 31MITF17 t : 
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155. The `Swaraj flag' designed by Gandhiji consorted 	155. *tilt TIT is,7.1144 fwR TR t-ci(1,4 *IQ ' iiiikiroci 

of following three colours : 	 c 	: 

(1) red, green and white 

(2) red, white and green 

(3) red, yellow and green 

(4) red, white and yellow 

156. Which of the following common foods did not 

come from the 'New World' ? 

(1) Potatoes and Tomatoes 

(2) Maize and Chillies 

(3) Groundnut and Sweet Potatoes 

(4) Sugarcane and shall variety of rice 

157. Indicate the correct chronological order in which 

the following artisans helped in cloth production : 

A. Stapler 

B. Weaver 

C Fullers 

D. Spinners 

E. Dyers 

(1) A—E — B — D —C 

(2) A—C — B — E —D 

(3)A—B—C—E—D 

(4)A—D—B—C—E 

158. Which of the following countries does not share 

its boundaries with India ? 

(1) Bhutan 

(2) Tajikistan 

(3) Bangladesh 

(4) Nepal 

157. 1.41eni4 ttt q•-q 3t-qic-f * fMv, 37rmit Trt 3facf 

fqftii : 

A. *1 	 71M 

B. vetik 

C. tti* 

D. 1.41 arm 

E. k 	 

(1) A—E — B — D —C 

(2) A—C — B — E —D 

(3)A—B—C—E—D 

(4)A—D—B—C—E 

158. F-14--iFori_qt-i 	A ict)i-i tvi 	*-1 	1-TR7 * 	Te 

	 ? 

(1) 'I-179 

(2) drlA crit-cit-t 

(3) qpicii 

(4) Llic-r 
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159. The Eastern most longitude of India is : 159. 	iTrrd i1,4 	trrr-T 	? 

(1) 97° 25' E (1) 97° 25' 1 

(2) 77° 6' E (2) 77° 6' 1 

(3) 68° 7' E (3) 68° 7' 1 

(4) 82° 32' E (4) 82° 32'1 

160. Under which of the following type of resources 160. ? 4q1( 	 csicrif 	f*-11 7-+-R OtTimm 

can tidal energy be classified ? 

(1) Replenishable (1) 7: Ift tfrm 

(2) Human Made (2) Trri-4 

(3) Abiotic (3) 3e4-4 

(4) Non Recyclable (4) 3rd-47 

161. Which one of the following is a leguminous 161. 1 A *+-It t th-47T th-Fra 	? 

crop ? 

(1) Jowar (1) 

(2) 	Pulses (2)  

(3) Millets (3) 	c4131k1 

(4) Sesamum (4) f-d 

162. Which of the following rivers flows through a rift 

valley ? 

162. 1-1.-11-46cf 4 A 	 lAT Effa 

? 

,oct 

(1) Mahanadi (1) 1:17-4 

(2) Tungabhadra (2) 1111-W 

(3) Krishna (3) 	:717/7  

(4) Narmada (4) 	-14c1 

163. Which one of the following is the main cause of 

land degradation in Punjab ? 

163. 10114 14 14 -Ii-lichkut TT iii--IfortIct 4 

art 	? 

ts.4 miter 

(1) Deforestation (1) 7*-47ff 

(2) Over Irrigation (2) 3iftrw 

(3) Over grazing (3) 3ifu 

(4) 	Intensive cultivation (4) irt9 
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164. Which one of the following is a non-metallic 	164. 	ortgct 4 A t -1:rr i  374rf--  ur—i7 ? 
mineral? 

(1) Lead 
	

(1) (-I 	 

(2) Copper 
	

(2) nrwt 

(3) Tin 
	

(3)f9 

(4) Limestone 
	

(4) 	reuT 

165. Which of the following agencies markets steel 	165. Fi.-ikifi5cf 4-? t17-14 7-4* NIciArIch 4q , a(4 
for the public sector plants ? 	 •*-i <41AR 	4 3 	T Trardl ? 

(1) HAIL 	 (1) 	(HAIL) 

(2) SAIL 
	

(2) 	 (SAIL) 

(3) Tata Steel 
	

(3) Zra 	 

(4) MMTC 
	

(4) -7t z1 1:1/ (MMTC) 

166. Which of the following is an Inland Riverine 
	

166. 	R5cf 14 	 amt-erAti 	? 

Port ? 

(1) Kandla 	 (1) enisor 

(2) Kolkata 

(3) Mumbai 

(4) Tuticorin 

167. Which of the following states is not connected 

with the Hazira-Vijaypur-Jagdishpur (H.V.J.) 

Pipeline? 

(2) cb richirit 

(3) 1711 

(4) It-*-11-17 

167. -14--1 

(11-1 Te 	? 

(1) Madhya Pradesh 	 (1) WaT TOT 

(2) Maharashtra 	 (2) 11MItIK 

(3) Gujarat 	 (3) ,k7i 	uct 

(4) Uttar Pradesh 	 (4) 37{ TrkT 

168. In which of the following States is Black soil 	168. Ii-iiciRyci 4 A 14)4 A74 4 cflIC4 	trr-  'ucft * ? 

found? 

(1) Jammu and Kashmir 	 (1) 7=1* w41:117 

(2) Rajasthan 	 (2) 7T7C2Tri 

(3) Maharashtra 	 (3) 4-16IkIK 

(4) Jharkhand 	 (4) ii«5s 



21 

	

169. Which type of drainage pattern is formed when 	169. 7q -fft 	tiRTI-F-4-0'T1 	if aTTR 	-ff4 

	

the river channel follows the slope of the terrain ? 	a1  	tF-TIT Ti1iW1 *lot ? 

(1) Radial 

(2) Rectangular 

(3) Trellis 

(4) Dendritic 

170. The constitution of India declares India to be : 

(1) India is a Union of States 

(2) India is a federation 

(3) India is a Unitary State 

(4) India is a Union of provinces 

171. Which of the following States enjoy special 

status according to the constitution ? 

(1) Jammu and Kashmir 

(2) Punjab 

(3) Tamil Nadu 

(4) Kerala  

(1) 371-74 

(2) aTrzraTWR 

(3) 71-4-TIT 

(4) T-TI-#ffT 

170. 	Afqtrm 1-TR-ff 	TER 1 )f-Er-d ct)or 	? 

(1) ,ITTu 	rr 

(2) 14117 TiEt* 

(3) 31TT 	kw-f 	I 

(4) 11rm 0-4 TT 1:ftf I 

171. P-14-444.5c1 ti 	+1 T1 	A .u.-4 	 ITT7 ? 

172. Which institution of the following institutions 	172. f1--1frtfi1d AT-zu311 -14 frt 1:r17-ffr4f 

reserves seat for women ? 	 • 3TR-fkm ? 

(1) Lok Sabha 	 (1) -M* RiTt 

(2) Rajya Sabha 

(3) Vidhan Sabha 

(4) Panchayat 

173. Coalition Government means 

(1) Government formed by two or more parties 

(2) Government that remains in power for five 

years 

(3) Government formed with the State parties  

(2) 	 

(3) fag Al-TT 

(4) tqrzm 

173. iikt1-9' wall( 	314 	: 

(1) t zrrt . :fr-q-r u.41,4-)7-01' 	49it T ti(chlt 

(2) i-R.bit 4t 	..1K,f A . rrq-t tray 

(3) wall* 41 titer * flzt 11cb77174 	 

(4) Government that makes law with consensus 	(4) t-Rci-dk 	31rg TITTIfff 	"TiTth 
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174. Party that remained in power for 30 years without 

any break and believes in marxism : 

(1) Communist Party of India 

(2) Communist Party of India Marxist 

(3) Communist Party of India Marxist lenenist 

(4) Communist Alliance 

175. What do you understand by the term 'defection' ? 

(1) Change of Party allegiance from the party 

on which a person got elected to a legislation 

body to a different party. 

(2) Change of the preference of the voters 

(3) Internal politics of Party 

(4) Change of the party before election 

176. Who was the Chairperson of the Drafting 

Committee of the ConstituentAssembly of India ? 

(1) Dr. BR Ambedkar 

(2) Pt. Jawaharlal Nehru 

(3) Abdul Kalam Azad 

(4) Dr. Rajendra Prasad 

177. Who is the Chairman of the Planning Commission 

of India ? 

(1) President of India 

(2) Prime Minister 

(3) Member of Parliament 

(4) Chief Justice of India  

174. -m igc1 ,Tr -4* (cbti Te eviim > 30 -dT 

41-tf 	to HIch4q1c 1:1 fault{ ttar1 i ? 

(1) 1-1Rtzt chit -it-d 

(2) 14717 crot 	 

(3) iwfr 

(4) 7171f77 	 

175. 	 37cr TR 	Tc1 ? 

(1) fagri-zrwr * iqK fw*1 err fayiw* fraiflid *4 

alrl Trf-ffrifq *I -3* -c-9 tisIT-*-7 f**1 3i- r mfr 

-ac1. Al-if 

(2)Tr-d-c-r4r311 rt-r 3791 4ki5 	qcoicf 

(3) 3TtaftT fl,111 	cf 

(4) -q-11c(14 	-c7 qco-if 

176. IITItzT 41-c(NT9 	siitc\LI ItrIt *311:dg cb -f 	? 

(1) Tr.t3Tri 31  

(2) mi. 	.1c\ 

(3) 377 crolirf 3Tr-A-K 

(4) 3177q 

177. -4--A-T 31r-01 * alaRT 	 ? 

178. How many Fundamental Rights are there in Indian 

Constitution ? 

178.1-117ft 4 ciNT9 	37-4TM f"*--d4 1:11f-MW 3;rWIT 	? 

(1) 4 (1) 4 

(2) 5 (2) 5 

(3) 6 (3) 6  

(4) 7 (4) 7 
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179. Which article of the Indian Constitution is 

regarded as the Soul of Indian Constitution ? 

(1) Art 21 

179. 	*F-171 3 -4 4 41-cit17 	t 3171:11' cilf AIM. * ? 

(1) 31-1-4c 21 
(2) 	Art. 31 

(2) 3-7Q7 31 
(3) 	Art. 19 

(3) 31-1- C 19  
(4) 	Art. 32 

(4) 3-1- 7 32 
180. What does the term 'Secular' mean in the Indian 

Context ? 

(1) No State Religion 

(2) One State Religion 

(3) No Religion 

(4) Sarvadharma Samabhav 

180. ITR--d*ltl# g.ri F-R4T -wr 340 ;EIT ? 
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